Question 1.
(N2(3—2x)=13

Solution:
() 2 (3 = 2x) = 13 (Remove group symbol)
6 — 4x =13 (Transposing 6 to R.H.S.)
-4x =13 -6
-Ax =7
id
X =4
o 3 7
(i) cy-2=15
Multiplying both sides by 5, we get

3y 10=— x5
Y= 0

7
3_}'-]0-—-2-

3y=-;-+10

(Transposing — 10 to R.H.S.)

7+ 20
3y = 5
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Question 2.

Solution:

x

3

Multiplying both sides by 6, we get

X X
— =615+—
63 6( 3)

3x=30 + 2x
3x — 2x = 30 (Transposing 2x to L.H.S.)
x=30

() 5 =5+
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3
(ii) 2(1-—-5-) =]]

Removing group symbols,
2x -3 =11

= 2x=11+3
(Transposing —- 3 to R.H.S)
= 2x= 14

14

x-'=“'2—=7
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Question 3.

N 7(x—2)=2(2x— 4)

(i) 21 -3(x—7)=x+20

Solution:

N 7(x—2)=22x—4)

Removing group symbols,

/X—14=4x -8

/X—4x=-8+14

(Transposing 4x to L.H.S. and -14 to R.H.S.)
3X=6

X=2.

(i)21 -3 (x—7)=x+20

Removing group symbols,

21— 3x+ 2T =x+20

= 42 —3x=x+20

= -3X —x=20-42

(Transposing x to L.H.S. and 42 to R.H.S.)

= -4x =-22
22 11

> X=4=2=295

B | =
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Question 4.

] ]
() 3x—?=2(x—-—2—)+5

o 2Zmoom
5 -5=7

Solution:

1 1
31-3—2(1’—5)4-5

Removing group symbols,

3x—--;—=2x—l+5

Multiplying both sides by 3, we get

Ix~1=6x-3+15
Ox-1=6x+12
Ox-6x=12+ 1
(Transposing 6x to L.H.S and — 1 to R.H.S)
3x=13

13 l
.).'—T—4?
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o 2m m
i =5-5=7

Multiplying both sides by 15, LCM of 3
and 5,

15x 2 _15x ™ 27x1s
3 5
10m — 3m = 105
Im = 105
15
m=105 =15

7
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Question 5.

x+l_x—7_]

o~ 3p-2 p-2 _
(i) = ~"2 = 2
Solution:
x+1 x-7
- =1
() 5 >

Multiplying both sides by 10, we get

(x+1) (x-=7)
5 107
2x+2-5x+35=10
2x—-5x+37=10
-3x=10-37
-3x=-27

27
3

0 x

=1x10

X = =9
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. 3p-2 p-2
(ii) ”7 -!Lr.:2

Multiplying both sides by 28, we get

28Bp-2) 28(p-2)
7 T 4
4(3p-2)-T(p-2)=56
Removing group symbols,
12p-8-Tp+ 14 = 56

2 x 28

Scanne d with CamScanner



Question 6.
1 1
() F(x+5)-7(x-2)=4

. 2x-3 x-5
(ii) )

X
6
Solution:

() 5 (x+5) -5 (x-2) = 4

Removing group symbols,

l..2_1..2_,
 Radhi B Sl T

Multiplying both sides by 6, L.C.M. of 2 and
3,

6,30 6 12_.
6 30 6 12 _
2*7T 2 T3*7 3

3Ix+15-2x+4=4x6
x+19=24
x=24-19=5
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2x 3 x—S
2

Multlplying both sides by 6, LCM of 6 and
2,

(i)

-
6

6(2x-3 6(x-5) «x c
- - —
6 2 6
2x—-3-3x+15=x
2x—-3x+12=x
—x-x=-=12
-2x=-=12
X=0
Question /.
x-4 x+4 x+3
) —==-——75—=—3
w X=1 x-2 x
(i7) 5 t— -3+l
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Question /.

x-4 x+4 x+3

(@) 7 5 7
oo x=1 x—-2_x
(i) 5 “+ 5 _3+]
Solution:

x-4 x+4 x+3

()

7 5 7
Multiplying both sides by 35, the L.C.M. of
7 and §,
35(x-4) ~ 35(x+4) _ 35(x+3)
7 5 7

5x-20-7x—-28=5x+15
-2x—-48=5x+ 15
-2x—-5x=15+48

- Tx =63
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x—l+x-2
hE 2

Multiplying both sides by 30, the L.C.M. of
5, 2 and 3,

30(x-1) 30(x-2) 30x
5 4+ > =3 + 30

6x-6+15x-30=10x+ 30
2lx-36=10x + 30
21x - 10x =30 + 36
1lx =66

x=?—6=6

(ii)

=—;—+1
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Question 8.
Hy+1.2y=44
(i) 15% of x = 21
Solution:
NDy+12y=44
22y=44

4.4 44)(10_2

Y=22 10x22

(i) 15% of x = 21
15x 3x

=2] — =
00 - = 70 =2

By cross multiplication, we have
3x=21 %20
3x =420

x=f—2-9-=l40.
3

—
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Question ©.
N2p+20%of (2p—1)=7
(i) 3 (2x = 1) + 25% of x = 97
Solution:
(HN2p+20%of (2p-1)=7

20
= 2p+-l—-06-x(2p—l)=7

1
= 2p+§(2p—l)=7

Multiplying both sides by 5, we get

5x2p+5"'(§”"') =7x5
10p+2p-1=35
12p=35+1
12p = 36
p=-3-§-=3

12
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(1) 3(x—-1)+ 2% 0tx=9/
= 6x—3+%xx=97

= 6x—3+-‘-1-x=97

Multiplying both sides by 4, we get
24x - 12+ x=97 x 4

25x - 12 = 388
25x =388 + 12
25x =400
400
x= =

25
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Question 10.

Find the value of p if the value of x* — 3x® — px — 5
's equal to 23 when x = -2.
Solution:

X = -2

x*— 3x3 — px — 5=23

5 (2)4 - 3(-2)3 - p(-2) - 5=23
> 16+24+2p—5=23

- 35+ 2p =23

> 2p=23-35=-12

> p=-6
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